Efficiency vs dr

2 0.05

<
9.045

N

et ooi...

+ 11 s T Il
—s— DQM_original_step2_ttbar-phasel-newgeom
_| —— DQM_pixelCPE_step2_ttbar-phasel-newgeom

—— DQM_pixel CPEANndChi2_step2_ttbar-phasel-newgeom

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
d).009
E
Q.OOS
9.007
>
$9.006
2
35=@.005
@
0.004
0.003
0.002
0.001
1Q

Ratio

1.

1

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

—0.05
o

9.045
30.04
(]

'9.035
=

®0.03
0.025
0.02
0.015
0.01 CRRRN ERRRR R E SR B :
0.005 PRRRN ERRRES & N e 6 B it o

...................................

..................................

~80 90 100
Pileup

o Of

T . : : ] ] : : :

S N ERNNI G
20 30 40 50 60 70 80 00 1



	Contents
	Page 1


